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A

( Physics ) 

I. 

 4 × 1 = 4 

1.  

 (A)  (B)  

 (C)  (D)  

2. 

 

 

 (A)  (B)  

 (C)  (D)  

3. 

 

 (A)  

 (B) 

 (C)  

 (D)  
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4.  

 (A) 

(B)  

 (C)   

 (D)  

II.  2 × 1 = 2 

5.  

 i)  

 ii)  

6.  

III.  2 × 2 = 4 

7. 1·50 

 

 ( : 3  108  ms 1  ) 
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IV.  3 × 3 = 9 

9. 

SI  

 

 

 

10. 
1

R ,  
2

R   
3

R  10 , 20  

60  24 V 
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 iii)  
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V.  1 × 4 = 4 

12. a) 

 

 b) 

 

VI.  1  5 = 5 

13. a) 

 

 b) 
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B

( Chemistry ) 

VII. 

 2 × 1 = 2 
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 (A) BaCl
2
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2

SO
4
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2

O
3

  HCl 
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2

SO
4

  

 (D) Na
2
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VIII.  4  1 = 4 

16. 
nn 2

HC

( 
63

HC  ) 

 

17.  

18. 

 

19.  

IX.   3  2 = 6 

20. 

HCl  

21. 

 

22.  
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X.  3  3 = 9 

23. a) 

 

 b) 

 

 

 

 

24. a) 

: 

 → 

 ↓ 
1 2 13 17 

2 — Be — — 

3 Na Mg Al Cl 

4 — Ca — — 

 i)  

 ii)  

 b) 19  
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25.  

 a)  

 b)  

 c)  

 

 a)  pH 

 

 pH  

e 5 

f 13 

g 9 

h 2 

 b) 

XI.  1  4 = 4 

26. a)  

  b)  
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XII. 

 2 × 1 = 2 

27. 

 

(A) → →  → → 

→  

(B)  → → → → 

→  

(C)  → → → 

→ →  

(D)  → → →  → 

→  
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28.  

(A)  

(B)  

(C)  

(D)  

XIII.   2  1 = 2 

29.  

30.  
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XIV.  3  2 = 6 

31. 

 

32.  

 

a) ? ? 

b) X  Y X  

33. 

 

Fig. (i) Fig. (ii) 
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XV.  3  3 = 9 

34. 

 

35.  

 36. ( TT RR ) 

( tt rr )  

i) 
1

F   

ii) 
1

F  
2

F  
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a)  

b) 

 

XVI.  2  4 = 8 

37. 

:  

 i)  

 ii)  
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